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1 B1E8F— A NIILELAEIHED.

Diagram 1 shows a child having a vaccine injection.

Diagram 1
HAREHBEGNEZH?

What is the importance of vaccine injection?

A ATERAKREEFROKF.

To increase the level of immune system in human body.

B AThEAKAKEMGEK,

To strengthen the microorganism growth in human body.
C ATRHRAMAMEARALEK,

To initiate the microorganism growth in human body.
D AThbkkLeEAL,

To enhance healing process.

2 H4aR “HHiE HED?

What is the meaning of “dispersal”?

A BATAR AT AT K

Ways to move the seeds to other places
B HATHEBERG T &

Way to carry the seeds away from the parent plant
C BHFTEERPFGHFX
Ways to separate the seeds from its main trees
FFF BRI L & 07 ik
Ways to take out its seeds from its main trees
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The rate of breathing depends on type of activities carried out.
——— ]
g R &) |
Rate of breathing “‘":‘4"’# ]
— “———-‘74_.«..__-;‘:___ I —— S
™) X
High
S ,
i Y
Moderate ]
(1N .
Low
*1
Table 1
XY #o Z & REA L ER?
What are X, Y and Z activities?
X Y Z J
2= ok N 1
Riding Swimming Watching television 1
B LE) BB H) 2] 352
Lying down Exercising Reading '
C| BIRE k&2 Ak
Playing violin Cooking Ploughing |
D| ¥ ATHR R B it |
Running Playing bowling Sleeping "&
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Diagram 2 shows a species of bird migrates from north to south.

——

Vg
=
— il

A 2
Diagram 2

VAR IR R A G R4 22 %h?

Which of the following is the main effect of the animals’ migration?

A  SHKEHW
The number of birds increases
B S4R4ME M
Amount of food increases
C BHinkARAEMATHEEHETH S
The number of dead birds due to starving and cold decreases
D BHikAeXARATHE XHF M

The number of dead birds due to starving and cold increases
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Diager o . o
agram 3 showy steps of milk pasteurization before arriving to the consumer.

L

K 3

Diagram 3

WA AR E K P A A ?

Which steps will kill most microorganisms?

A 1 A2
land 2
B 3424
Jand 4
C 5#6
Sand 6
D 748
7 and 8
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. 4
. Igr("ﬂ .
Aiman makes an observation on the fruil show!

A 4

Diagram 4
Bl 8y f 46 77 57

as the fruit in Diagram 4?

AT A A R Ao B 4 o B9 AR RA AR

Which of the following fruit has the same seed dispersal
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Diq . .
8ram 5 shows three situations that can affect human life processes.

B S

Diagram 5

g 5] T AR A G A A 2 W R

What are the effects of these habits on human life processes?

P R SSBNE X IP - &:5) WS

Slows down the response to stimuli

Q  FEEM
Causes obesity
R FH&LE
Causes addiction
S BmREZEHK
Lack of nutrients
A P#&Q
Pand Q
B P A= R
PandR
C Q#=S
QandS
D R#A=S
Rand S
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8. HM6RTHAMMERE K peds ofplants.Both

plants are not wqy,,,, J
) ! o jc n
Diagram 6 shows an investigation about the bast

for a week.

Plant P

A 6
Diagram 6

—ANEHE, M P A QR AEMNLET
What will happen to plant P and Q after a week?

At PAtid Q BH A K,
Plant P and Q grow healthily.
B HMWPEERAKAEHQEET.
Plant P grows healthily while Plant Q wilted.
C #HPHERMEYS QEHMAK,
Plant P wilted while Plant Q grow healthily.
D i PAtidh Q2 AT,
Plant P and Q will die.
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CRAE” fER

What is the meaning of “speed"?
A dtkAS Bt )

The time of the object moves.
B ks shah s .

Distance traveled by an object.
C ik —ib A5 5] 5 — kLo B A2 A

The measurement of fast or slow a moving object from one place to another.

D ik —zthntin QA8 HAHeHIEE,

The distance of the object movement in a certain time from one place to another .

10. B 7 &M 418 ERA AW TET RS BRI RATE L K8 R TT,
Diagram 7 shows a bar chart which shows the time taken by four vehicles to move from

Kuala Lumpur to Ipoh using the same route.

b 1) () )
Time taken (h)
Fy
 RALA
S T U \Y Vehicle
B 7
Diagram 7

HAEGE T AT R RA, BRBERRHD.
Choose the correct sequence starting with the highest to the lowest speed.
A T,V,U,S
B S, T,U,V
C S,U,V,T
D T,UV,S

028/1 ©2019 Hak Cipta Jabatan Pendidikan Negeri Melaka SULIT

Scanned by CamScanner



10
SULIT
S LA

2 X 5 é\o
1. RIFAT— A £ YT AR

w.
tion of a shado

; . » forma
Danish conducts an experiment on the fo

These are the steps to carry out activifies.

P - E R B 18] Y A AR AK o
Ensure the room brightness is reduce
Q - FINAAREY K At Ko
Determine the size and type of objects

R - #1 R bR Atk 5 J RA k69 JE 5 o

) . e of object from
Set the light source distance from the object and distance of

the screen
S - KRB EE MK,

Lighting the object

ATFAR— 3 HARE T?

Which step represents T?

A W HARE K
Measuring object size
B AR mIRE K
Specifies the size of the object
C #ARYTHRN
Determines the size of the shadows
D REHIKERRZ A 836 &

Measure the distance of the object with the screep
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BB A YT VAT A £ MR PSRBT KD
AR 4K 6 ) 4 69 3% b o

hadows are formed when the light is blocked. The information below are factors

\

th ‘) . » .
at affect the size and shape of the shadow.

P-Fe ek

The size of the torchlight

Q- Mtk 5 F L HMER

Distance of torchlight from the object

R- &K F6 KD

Size of screen

S-FEHMEE
\ The torchlight position J

RIBUAEFA T, B—ALHFRYTH KA KT

Among the above factors, which affect the size and shape of the shadow?

A R#A=S
Rand S
B Q7FU R
Qand R
C P# R
Pand R
D Q#S
Qand §
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Diagram 8 shows the length of a cylindrical rod and an iron rod.

b

Iron Rod

[ i

Cylindrical rod () A)'

]
*K E\z;ns;w.gannuﬂa

Ruler .

A 8
Diagram 8
WATF AR — 0 2 B AR A 7

Which of the following statement is true?

A HBHEEFHAEK 2cm.

Iron rod is 2 cm longer than cylindrical rod.

B #MBHKER8S5cm,
The length of the iron rod is 8.5 cm.

C E#bdsEX 2cm.

The cylindrical rod is 2 cm longer than the iron rod.
D EHE#HNKER6.S5cm,
The cylindrical rod length is 6.5 cm.
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During school sport day, Siti makes an observation of 100 meters athletes

\

(‘ AU 3043 PE ST 4 b o
Zaquan runs Saster than Aqil.
® FHserbilstk,
Lee Wei runs faster than Zaquan.
® T4 3u/3 4P Atk J

Aqil runs faster than Irfan.

V3B 4 3, h W 42 ik F RSk K B it B

Help Siti builds a bar chart to show the athletes speeds.

A 5 C 5
P £
ﬁ 3 m
" ;-;i ' , ﬁ %2
1
l n
; : O
e MH  Fh 2 FAR e FF _FH PR
#—' _’i/Pupll # i/Pupll
B 6 D 5
G g &
o Y w33
" 30 k)
2
0 ,
L M& F4 FR Ls M4 $ﬁ: 7
i/Pupil

% 4 /Pupil

SULIT
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15, SCAE AT —ANAT X AR A AT b T i A 69 4% 4R

Aidel made an observation of the energy changes that existed in the following spotlight.

g

& 9
Diagram 9

B 3CAE R A E) i A L A A9 4% ko

State the change of energy that Aidel can observe.

A g L Y
Chemical Energy Light Energy + Heat Energy
B LA ‘ maE  + FEe
Electrical Energy ’ Heat Energy + Kinetic Energy
C  ER e+ kR
Chemical Energy Heat Energy + Light Energy
D e kR v g
Electrical Energy Light Energy + Heat Energy
028/1 ©2019 Hak Cipta Jabatan Pendidikan Negeri Melaka SULIT
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28T 4 R R AR
Table 2 shows 4 different vehicles with different speed.
XELR % (ML) ihfE ()
Vehicle Distance (km) Time (hour)
K 360 4
L 190 2
M 300 5
N 210 3
%2
Table 2
ARAE S8 TR A9k A KRB RN, &b EAGHT
Choose the correct sequence starting from the highest to the lowest speed.
A L,K,M,N
B L, K,N.M
C L,N,K,M
D L,M,N,K
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e ik EAEIE 10 P RE e
7. X YAz 82 kR S kot &0 ETIAT Bz

RO RE 400 WA @ 69 1% 7 K ik 15 A EMo
pt in the storage with diffefen,

X, Y and Z are ke
oriod was observed in 15 weeks

Three pieces of same tvpe and size of fish
temperatures as shown in Diagram 10. Fish preser’ ation [

AR A (M)
Fish pre.wr\'gzi(m period (week)

4
L
Y
-
L] | ‘ ik A 8B A (°0)
o — 1 S N
0 5 10 Storage temperature (°C)
A 10
Diagram 10

AFAANB & EHAAEE 10 F 69 &M 41 B ?

Which of the following table is correct to represent the bar chart in Diagram 1 0?

Al & BORAHR (24) C|l s EHR AR (24)
Fish | Fish preservation period (week) Fish | Fish preservation period (week)
Ix! 10 X 15 |
IYI 15 Y 10 N

L2 ] ’ z :

B | 2| e8RAHR 28 | D[ s | smRARE &5
Fish | Fish preservation period (week) Fish |  Fish preservation period (week)
X 5 X T —
Y 10 v —
l .
7 15 5 i —
. ]
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18.
18 B 11 n—mag, ATAARRARK NGRS

Diq
gram 11 shows a vegetable. Which of the following is the correct preservation method to

ke
€p the freshness of the vegetables?

A AAkfeKFEE
Freezing and pasteurisation
B EhHAEZTOR
Smoking and vacuum-packing
C b 3 Fa i R
Waxing and Cooling
D  LeCRFHE

Waxing and pasteurisation

SULIT
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19, H 12 2 200 & 8 K ik el A ZA TR EE
] e ront containers.
Diagram 12 shows 200 mi of water poured into 1hre€ different conic
200 md

——

200 aat 200'.“(/_\ ( o

E 200 m¢ -
S
X Y Z ¥ 14

Measuring cylinder

A 12

Diagram 12
ARE 12 ¥R AR 2

What is the matter of property being investigated in Diagram 12?

A RAAH R BAMERBOHRAAL

Liquid has mass and takes the shape of container

B #AAAHRRREEESOHBRAAE
Liquid has volume and takes the shape of container
C

Rk A bR T ) A A B A9 AR
Liquid occupies space and has fixed shape

D &AKT ARG A2 b AR )

Liquid can be compressed and occupy space
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20 ko
B BH AT — B R AR S0 A 6 00 AT T 52 00 80 3K

Suha imr
imi c i o R , . . . ..
arried out an investigation on the properties of material that can conduct electricity.

The i :
n o S
formation below shows the steps of the investigation.

—
P M e b ik 3 B kT i A F b0

Connect the wires to bulb and batteries with an adhesive tape.

Q- L AfEREHLE.

Set up the tools and apparatus.

R — R 5K B 6yt #H AR AL % 4% 09 B3 o

Touch the end of wire with the tested material.

S — R RLERILRAELLL,

Record the observation in the table.

VAT RAS R E 5 69 F K2

Which of the following is the correct sequence’?

A P,QR,S
B Q,P,R,S
C Q,P,S,R
D Q.,S,P,R

SULIT
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2. BI3BF—ANEAKFOMHT.

Diagram 13 shows a growing seedling.

A 13
Diagram 13

AT K B FA EAM X Fo Y BB 0930427

028/1

.y . . ) ?
Which is the correct classification of the plant’s responses for part XandY:

X Y
A X NN s
Water Gravity
B A AN D)
Light Gravity
C X K
Light Water
D fik A AN
Touch Gravity
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2 M4 SR L A LV

Diagram 14 shows a mi roorganism.

P

%n
ﬁé

& 14

Diagram 14

MSRAT 5 18 14 B 44 49 35,80 2 E 5892

Which statement is correct about microorganism in Diagram 142

A HRARR KA.

The largest microorganism.

B W3 KN A A T R L

Microorganism can be classified as plants which have chlorophyll.

C FRATR A TREAR)T LA MR K,

Bacillus and Salmonella are microorganism that classified into the same group.

D SRR IGBEDATAEELTEMET 4 AL,

The tiniest microorganism and only can be seen under electron microscope .
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23. M 15 2F3EH%E R REM.

Diagram 15 shows a few products from Fizi s farm.

EY -

A 15
Diagram 15

Ei DB £ R RS DR, IR AR A T L
R R 477

Fizi wants to ensure the products last for a longer time. What are the two preservation

Methods can be done at his home?

A A AE A
Freezing and smoking
B A A i
Cooling and pickling
C it A= R4t
Pickling and canning
D % kA b

Cooling and waxing
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24. B16 2R—AR Tk K br T,

Diagram
g 16 shows q glass of iced water

Diagram 16
UEEOLES FER S PR

What is happening at the outer surface of the glass?

A URBCK Mt
Gas loses heat

B ARBIH#AE
Gas receives heat

C RARBK HAE
Liquid loses heat

D BRI e

Solid receives heat

25. FHMAAALERE LGANZE?

What are the two constellations can be seen at Northern Hemisphere ?

A KR EAKIBE
Big Dipper and Scorpio
B kAP E
Big Dipper and Orion
c xBafhtTE
Scorpio and Southern Cross
D XBAAEFE

Scorpio and Orion
SULIT
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26. M 17 7 — e 2 HE P B4 A G — AN R

Diagram 17 shows a group of stars that forms a constellation.

A 17
Diagram 17

ML 7K 2 A b4

Which of the following shows the Jfeature of the constellation?

A BRERFERIZH-AZRE,
A constellation that appears at the sky on the northern hemisphere.
B RARKFHAG—NZHE,
Can't be seen all the time.
C BALEAFKRETH—ANZAE,
A constellation that appears at the sky on the southern hemisphere.
D RfeaFAFTHAHERE,

Only seen every end of a year.
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27. W laﬂ_*hﬂim‘,&(quﬁ},} M.

Diagr: ! ¢ o .
gram 18 shows the phases of Moon that can be observed.

Dol

M 18
Diagram 18

AT SIMARAT R A An ey EHHEF)? 2
Which of the following is the correct phases of Moon?
A QR,S,T,P
B P,R,S,T,Q
C Q,S,R,T,P

D P, T,R,S,Q

SULIT
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28. M 19 BF LA AN I KL E.

Diagram 19 shows the position of the Sun within a perto

W \l(;
h)

Q)
Py

412 i
12:00 noon

T 45 L4 9 B
4:00 pm 9:00 am
A 19
Diagram 19

A4 K Fa 64z A A2 kA TR & T AL?

Why does the Sun's position looks different?

A KEGRH5BR
Occurrence of day and night
B bR A
Earth rotating on its axis
C ka4t E iRz
The Sun relvolving around the Earth
D iR A& K a4
The Earth relvolving around the Sun

028/1 ©2019 Hak Cipta Jabatan Pendidikan Negeri Melaka
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29. W20 XK 1o fodw g,

Diagram 20 shows the Sun and Earth,

A 20
Diagram 20
HIREGIMAMLE £ 12 DB AR T B

Which part of Earth experiences the night time after 12 hours?

A K
B M
CL
D N
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30. 21 BRAMAEZTEGHI

Diagram 21 shows a sequence of planets in the Solar System.

{:@} O OO0

X e 4 Ho IR XE
Sun Mercury Venus Earth Mars
A 21
Diagram 21

WRREAFAREE, BARAETLAFR?
What will happen, if planet Mercury and Earth switch their positions?
A KRELbREH
Mercury will become hotter than Earth
B eRAERPE LE Mg KL KE R
Earth’s rotation on its orbit will be faster than Mercury
C KELRKMAHEHE KK
The time taken by Mercury to orbit the Sun will be longer than the Earth
D L5KEA, REFEFZ L0944

There will be more life on Earth compared to Mercury

028/1 ©2019 Hak Jabatan Pendidikan Negeri Melaka
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2. PESGEEEQE, RARIWE 23 HT—HARAR,

Elizabeth lives in Country Q. She observed a natural phenomenon as shown in Diagram 23.

K 23
Diagram 23

WK B 20%7?

What was the actual observation she experienced?

N C
MO
(4
N
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028/1

Diagram 24 shows an employee try to lift up large boxes to the highest level of a tier-rack.

A 24
Diagram 24

VATF REE 18] S AR R E A thBhiX 42 R 7

Which is the most suitable pair of simple machines to assist the employee?

A F & Ao 5 7%

Inclined Plane with Screw

B HFRARH
Pulley with wheel and axle
C AcAfAeftdE

Lever with wedge
D < FiAAA

Gear with lever

1 ©2019 Hak Cipta Jabatan Pendidikan Negeri Melaka
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34, AT R A 8 T 9% 9K 4% A B A2

al?
enstai e material
Which of the following contributes to the use of sustait bl

A RARKRERR
Use alternative sources
B XhRi
Increase the waste products
C LA 2R
Explore new material sources
D RAeFH AR A

Increase the cost of material
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35. P25 2R A s,

Diagram 25 shows two buildings.

A 25
Diagram 25

VAT iR 4R B st EE A 4X S A= T?

Which is the correct pair represents S and T?
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36. W26 27 EkAeIE L.

Diagram 26 shows a tool used by Syamim.

A 26
Diagram 26

B8 R IRTRANBW B RE A AR PR ?

What is the sensory involved that hinder Syamim’s ability limit?

A it
Hearing

B A%
Sight

C it
Touch

D %kt
Taste

028/1 ©2019 Hak Cipta Jabatan Pendidikan Negeri Melaka SULIT
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37. B2TRF—#—m 542X K%,

Diagram 27 shows a F| racing car.

A 27
Diagram 27

A 24z 5 K F T A B 27 FrR?

Why the racing car was designed as in Diagram 27?

A BRI BIEE

To look more beautiful
B 1£¢ 2 -FAR

To make it more stable
C HTHABAGER

To save fuel consumption
D ¢ ZERER

To make the driving more difficult
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38. M 28 L RI/LA E & A4 iT,

Diagram 28 shows a few different levers.

7
Effort

! O |

028/1

]
Effort

alR

L—

P Q R
A 28
Diagram 28
AR T B EHXR & P, QA= R?
Which are the correct tools represent P, Q and R?
P Q R
A VP FHBRRF T
Tongs wheelbarrow Pliers
B &5 4T w7
Fishing rod Hammer Scissors
C #F S F i £
Pliers Tongs wheelbarrow
D L) t8F &5
Scissors Hammer Fishing rod
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39 B 29 R — & AR A LA A E A P A A Qo

Diagra
m29 shows )
shows the -
the rotation of gear P and gear Q on a machine.

HH Qitxm
89 &)

%k P
4% o) 1Y
7 1)

Rotation

of
gear P

Rotation of gear

- vYvuy

A 29
Diagram 29

Je REHPHARE, S8 QLEH?

What will happen to gear Q if the gear P is rotated twice?

A HRQa¥zm—H.
Gear Q will rotate once.
B ## Qa1Fibia.
Gear Q will stop rotating.
C H# QaHHNFIR,
Gear Q will rotate faster.
D &% QaMHRIE.

Gear Q will rotate many times.

SULIT
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40. A 30 5% ¥ il %oy — /AR

Diagram 30 shows a situation experienced by Hazigah.

o A LR E B 11 R ARk A % b AR A
X R TR A4 FF £,

Hazigah saw her classroom s door flipping in and out. She used a tool X

to stop the flipping .

A 30
Diagram 30

IR X R — A 8] % AU 2

What is the type of simple machine of tool X?

A 3FiE
Screw
B X4
Wedges
C 7%
Pulley
D ##H
Wheel and axle

FER
END OF QUESTION PAPER
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